Midterm 1
Math 170A, 2017 Winter.

You have 50 minutes.

All of the policies and guidelines on the class webpages are in effect on this exam.

N\

® You have 50 minutes to complete the exam, starting at the beginning of class.

e If you use a theorem or proposition from class or the book you must indicate this and

explain why the theorem may be applied. It is okay to just say, “by some theorem /proposition
from class.”

¢ Organize your work, in a reasonably neat and coherent way, in the space provided. Work
scattered all over the page without a clear ordering will receive very little credit.

¢ Mysterious or unsupported answers will receive no credit. A correct answer, unsup-
ported by calculations, explanation, or algebraic work will receive no credit; an incorrect answer

supported by substantially correct calculations and explanations will however still receive partial
credit.
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“By signing here, I certify that I have completed this examination while refraining from cheating and
adhered to the UCLA Community Standard.”

Signature: %‘«MM
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1. (15 points) Two boxes each contains seven balls. In each box we label the seven balls with the
numbers 1, 2, 3, 4, 5, 6 and 7. Draw one ball randomly out of each box.

(a) Find the probability that the two balls are labelled with different numbers.
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(b) Given that the balls are labelled with different numbers, find the conditional probability that
the numbers on the balls result in a sum of 4 or less.
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(c) Given that the balls resulzm a sum of 1; or less, find the conditional probability that the
balls were labelled with the same number.
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2. (15 points) You roll a fair four-sided die. If the result is 1 or 2, you roll another fair six-sided die
once and stop. If the result is neither, you just stop rolling. Given that the sum total (??f your
rolls is at least 4, what is the conditional probability that the result of the-first roll was 1!
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3. (10 points) Assume that A1, Ay, A3, A4 are independent. Are the events A N Az and Ax U Ay
iIndependent? If it is true, provide a proof. Otherwise give a counter example.
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4. (15 points) An ordinary 52-card deck is randomly divided into 4 groups of 13. If the groups are

numbered as 1, 2, 3, and 4, then what is the probability that the division is_done and the ace

Of heart ls In group 1, the ace of spade in group 2, the ace of club in group 3, and the ace of
diamond in group 4 respectively? ~ |
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(a) Find P(A; N A,).
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(b) Find P(A4; U 4y).
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(b) Find P(U?_, A;).

. (15 points) Suppose A,, A, ..., A, are independent events with P(A4;) = p for every 7, 1 =



For Problem 6 and Problem 7, you can choose one and only one to work out. If you show work
on both, we will have to grade only Problem 6 by default.

6. (15 points) You roll a fair four-sided ‘M’ e result of the roll is 1 or 2, you roll once
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your rolls’is at least 4, what is the conditional probability that the result of the first roll was 17
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T. (15 poz.n?s) A gambler makes a sequence of independent bets. In each bet he wins one dollar with
probability 1/3, and loses one dollar with probabilit

and plays untill he either accumulates 100 dollars or_has no mone left.

that the gambler will end up with, 100 dollars?-

y.2/3. Initially, the gambler has 60 dollars,
What is the probability




